3000000000 (Fontana-Cardano 00 )
fX)=X3+pX+q=00000

S RO
SRR

@DDSDDDDDD—%DDDDDDDD)

3000100 wywDOOOO(w?4+w+1=0)

X =u+v, wu+ w?v, wu + wv
—0000 3 1—



oo

3
f(X) =X>+pX+q=][(X—x) DOOD
i=1
D(f):= [ (xi—x)°
1<i<i<3
= (x1— Xz)z(x1 - X3)2(X2 - Xs)z
:f 0000 (discriminant)

—0oo0 3 2—



oo

3
f(X) =X>+pX+q=][(X—x) DOOD
i=1
D(f):= [ (xi—x)°
1<i<i<3
= (x1— Xz)z(x1 - X3)2(X2 - Xs)z
:f 0000 (discriminant)

0X1,X2,X3DDDD
— 00(00000)0000
e {(X)ODODDDOO < D(f)=0

—0oo0 3 2—



oo

3
f(X) =X3+pX+q=][(X—x)
i=1
S1 :X]+X2+X3:0
S2 =X1X2 +X1X3 + X2X3 =P

$3 = X1X2X3 = —(

D(f) = (x1 —x2)*(x1 — x3)*(x2 — x3)?
= 5355 — 4s7s3 — 4s3 + 1851583 — 2753
= —4p3 —27q°

—0ooa0 3 3—



oo

doodogpoaoad
Fontana-Cardano OO O QOO QOO:

_ 34 vD 5/ ( VD
X = \/_E + 6(w — w?) + \/_E + 6(w?2 — w)
(D = —tp* ~ 2742)

00000000000 vDOODOON)

—0oo00d 3 4—



40000000000 (le00OOO, Ferrari)

Joboboooooooooo

e JUUUOUOOODODO
(CoooooooOooooon)

e JUUUOUOUOOOODO

—0oo00d 3 5—



40000000000 (le00OOO, Ferrari)

Joboboooooooooo

e JUUUOUOOODODO
(CoooooooOooooon)

e OO UOOODODODOO
— “00o0”oobooog ?

(00O0O00000)

—0oo00d 3 5—



400000 FerrariO OO

fX) =X +pX24+gX+1r=0

o000 to000oon
(X*+1)? = (2t —p)X* — gX + (t* — 1)
ooooooooooo

T

Q> —42t—p)(t?—1) =0

oobot0 30000 — 00 tO000oogo

—0oo00d 3 6—



g(t) = q* —4(2t —p)(t* — 1)
:30000 (00000, resolvent)

T:=2t00000

R(T) :=— (;)

=T —pT? — 4T — (g — 4pr)

—0oo0d 3 7—



sH0poo0oooogoonooon

OO0O0O0O0ooOoog: Tschirnhaus OO
X"+ a X" '+ +a, X+a,=00000

Y=X"T4+b0,;X" 24 + b 2X+bn,
0o0oooooo

ooo0oo0ogd (yr=cOO0)0oooog

—0oo00d 3 8—



sH0poo0oooogoonooon

goboboogodn
Job40000b00boboooog
000000000000000

— 20000 (18000 0): Lagrange 0 O O

000000000000000000
(000000Galeis0O000O0)

—0ooo0d 3 9—



sH0poo0oooogoonooon

goboboogodn
Job40000b00boboooog
000000000000000

— 20000 (18000 0): Lagrange 0 O O

000000000000000000
(000000Galeis0O000O0)

O0040000500000000
ooooooooooogn
oooo

—0ooo0d 3 9—



30000000 (Fontana-CardanoJ 0 0 )00
Lagrange OO0 (18000 0)

30000
f(X) =X>+pX+qg=0

0 30 X1,X2,X3 oogog
u = =(x1 + wxs + w?xs),

v ==(x1 + w?x; + wx3)

w|—aw|—a

oooo
(wDO10003000w?>+w+1=0)
—O0ooo0 3 10—



30000000 (Fontana-CardanoJ 0 0 )00
Lagrange OO0 (18000 0)

1
u= §(X1 +wxs+w?xz),v = §(X‘ + w?x5 + wx;3)

gobo

o=1(123):x1— X2 X3+ X3

T=1(23) X1 X1,X2 — X3 — X2
goooo
uU— wu— wu s u
o: 5 T:U— VU
Vi WV WV v,

—0oo00 3 11—



30000000 (Fontana-CardanoJ 0 0 )00
Lagrange OO0 (18000 0)

wO0O0O0OOoOoOooooooooooo
000000 w,v 00O (00, orbit)

—0oo00 3 12—



30000000 (Fontana-CardanoJ 0 0 )00
Lagrange OO0 (18000 0)

wO0O0O0OOoOoOooooooooooo
000000 w,v 00O (00, orbit)

U

(T—ud)(T—V3)=T2— (W +VT +ud?
gooooooooooooggn (DDD)

—0oo00 3 12—



30000000 (Fontana-CardanoJ 0 0 )00
Lagrange OO0 (18000 0)

wO0O0O0OOoOoOooooooooooo
000000 w,v 00O (00, orbit)

U

(T—ud)(T—V3)=T2— (W +VT +ud?
gooooooooooooggn (DDD)

U
00000000 (0o0O0O00)ooooon

—0oo00 3 12—



30000000 (Fontana-CardanoJ 0 0 )00
Lagrange OO0 (18000 0)

goooo

u==(x1 + wxz + wxs),

w|—lw|—l

(x1 + Wz + wx3)

oooooooono ?

v =

—0oo00 3 13—



30000000 (Fontana-CardanoJ 0 0 )00
Lagrange OO0 (18000 0)

ogoodgo
1
u= g(XH-sz—Fw X3),
1
V= g(XH-w X2 + wx3)
ooooooooo ?
ogooood

200000000 Lagrange U ODOODOO

—0oo00 3 13—



